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Problem Set 6

Due Date: 1/3 (Mon)

Points to note:

1. Test 3 will be held in school hall from 4:15-5:00pm at 30/3 (Tue)

2. Some questions are optional. However, you will not get an A if you do not do them.

MC questions 

1. Long queues are often seen outside public clinics. This is probably because

A. there is a large demand for medical services

B. public clinics provide much better medical services than the private clinics.

C. the price of medical services in public clinics is lower than the market equilibrium price.

D. the supply of medical services in public clinics is limited.

2. If a price ceiling is set above the equilibrium level,

A. sellers will benefit from a larger revenue 
B. there will be no effect on market price

C. an excess supply will develop


D. consumers have to pay a higher price

3. When a price floor is set above the equilibrium price, which of the following will fall?

(1) quantity demanded
(2)quantity transacted
(3)total revenue

A. (1) & (2) only
B. (1) & (3) only
C. (2) and (3) only
D. (1), (2) & (3)

4. If the burden of a tax is borne wholly by the producers, we may say

A. demand is perfectly inelastic.
B. demand is perfectly elastic

C. sellers’ output increases.

D. sellers’ gross revenue increases

5. If a subsidy benefits both the consumers and the producers, we can conclude that

A. the subsidy is a consumption subsidy
B. the subsidy is a production subsidy

C. the subsidy rate is very high


D. none of the above

6. The consumers’ share of the tax burden will be bigger than the sellers’ share when

A. demand is inelastic.




B. supply is inelastic


C. demand is more inelastic than supply
D. demand is less inelastic than supply

7. Suppose the government grants a $3 subsidy on a good. After the subsidy, its market price drops by $1.5. This implies that

A. demand is more elastic than supply

B. demand is less elastic than supply

C. elasticity of demand is the same as that of supply

D. demand is perfectly elastic but supply is perfectly inelastic.

Short Questions

8. To reduce the competition of electronic components imported from Taiwan, the Japanese government decides to set a quota to restrict the quantity of electronic components imported. How will the equilibrium price and quantity of electronic components imported from Taiwan to Japan be affected? Illustrate with a diagram.  

9. Study the following demand and supply schedules of petrol: 

	Price ($/liter)
	Quantity Demanded(litrs/day)
	Quantity supplied(liters/day)

	7.4
	2200
	1300

	7.6
	2000
	1400

	7.8
	1800
	1500

	8.0
	1600
	1600

	8.2
	1400
	1700

	8.4
	1200
	1800

	8.6
	1000
	1900


a) find the equilibrium price and quantity of petrol.

b) If the government imposes a $0.6/liter of sales tax on each liter of petrol sold, 

i. What will be the new equilibrium price and quantity of petrol?

ii. How will the tax incidence be shared by the producers and consumers of petrol?

iii. Calculate the price elasticity of demand between the original and the new equilibrium price.

iv. (Optional) How will the equilibrium price and equilibrium quantity of private motor cars be affected? Explain your answers with the aid of a diagram.

10. Distinguish whether the following activities is/are consumption or production? Explain your answers.

a) Peter played TV games in his office during the lunch time

b) Mary read the documents of her company at home

11. (Optional) Briefly explain the interrelationship between the 3 stages of production.

Answer key to problem set 6

1.
C
2. 
B
3. 
A
4. 
B
5. 
D
6. 
C
7.
C

8.


-An effective quota should be set at an output level below the equilibrium quantity.

-When the Japanese government imposes a quota on the electronic components imported from Taiwan, the supply curve of the electronic components imported from Taiwan will become a vertical straight line at Qm. 

-The equilibrium price of the electronic components imported from Taiwan will increase from P0 to Pm.

-The equilibrium quantity will decrease from Q0 to Qm. 


Electronic components imported from Taiwan





9. a) the equilibrium price is $8/liter and the equilibrium quantity is 1600 liters/day

b) i. The new equilibrium price is $8.2/liter and the new equilibrium quantity is 1400 liters/day.


ii. Consumers’ tax burden = ($8.2-$8)x1400 = $280


  Producers’ tax burden = ($8-$7.6)x1400 = $560


  The producers shares a greater tax burden than the consumers.


  The price elasticity of demand is greater than the price elasticity of supply.


iii.Price elasticity of demand = - (1400-1600/1400+1600)x(8.2+8/8.2-8) = 5.4

The price elasticity of demand between the original and new equilibrium price is elastic.


iv.Private motors cars and petrol are in joint demand. 

When the government imposes a per-unit tax on petrol, the demand for private motor cars decreases. The demand curve shifts to the left. 

The equilibrium price for private motor cars will decrease from P0 to P1. 

The equilibrium quantity will also decrease from Q0 to Q1.







10. 
a) Consumption is the process of obtaining satisfaction from consuming goods and services to satisfy wants. In this case, Peter has satisfied his wants by playing TV games. Thus, it is a consumption process.

b) Production is the process of combining factors of production for creating outputs. In this case, Mary has provided her labour services in reading the company’s documents. Thus it is a production process.

11.
Primary producers supply food to households and raw materials to secondary producers. In return, they receive capital goods from secondary producers and commercial services from tertiary producers.


Secondary producers produce consumer goods for household and capital goods for primary and tertiary producers, and for their own use. They also depend on primary producers for the supply of raw materials and tertiary producers for the supply of commercial services.


Tertiary producers provide direct and social servies to households and commercial services to primary and secondary producers, and for their own use. Tertiary producers, in turn, depend on secondary producers for the supply of capital goods.

Comments:

- generally speaking, PS 6 is the best performed problem set of all, well done!

- however, there are more students copying works from others, including their mistakes. 

- always use arc elasticity of demand except you’re not provided with enough data.

- private motor cars and petrol are not in derived demand because petrol is not a factor of production of private motor cars.

- diagrams could be better drawn.
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